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Y20 8%
A>reduce3d3d

in "gro2.red";
off time;

off ratpris'

load"groebner"$

fl:=-a+akxr2+bkx2/2%
f21:=3/4*00*#2+00*02/8+02**2/160$
f2i=-bh+2%axb+bkcO+b*¥2/2+cO%%2-121%
'fa:=-cO+2*a*cO+b*cO+f21$

[4:=-c2+2%a%c2-7/8%bkc2+5/16kc)tk2
+c0%c2/16+45/256%C2%%2%

f’:=a+b+co-1$
c2:=09%

end,;
2: groebner((fl,fz,fa,f5),cco,a,b))p

-3 2
(CO + 27/6%B - 3/2%B - 7/5xB,

3 2
A - 27/5%B + 3/2%B + 12/5+B - 1,

4 3 2 :
B - 4/9%B - 4/9%B + 16/81x*B)

3: in "grui.red";
solve(third(input(2)),b);

{B=0,B=4/9,B=2/3,B= - 2/3)
multiplicities!ls*;

(1,1,1,1)
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yli=first(input(2)); ‘ | 101

3 2
Y1 = (54*%B - 15%B =~ 14%B + 10%C0)/10
y2:=second(input(2));

3 - 2

Y2 (= (10%A - 54%B + 15%B + 24%B - 10)/10
b:=0%

solve(yl,c0);

{C0=0}

solve(y2,a);

(A=1)

clear b%

hi=4/9%

suolve(yl,c0);

(C0=4/9)
sulve(y2,a);

(A=1/9)

clear b$

solve(yl,cO);

{C0=0)
solve(y2,a);.
(A=1/3)

clear b%
bi=-27/3%
sulvel(yl,c0);
{C0=4/3)
solve(y2,a);
{A=1/3)

end;
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